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1. McDougall’s “Escape route of rats” experiment ~ 1- A BT “Fgl Eﬁ A BT IR TR GHei
supports - P & —

(1) Neo-Lamarckism  (2) Lamarckism (1) Ta—aaE B @) TG BT

(3) Neo-Darwinism  (4) Darwinism @) Te—<ifdare &1 (4) sifdare &1

(5) Question not attempted (8) 3rgaiRer g

2. Formation of interfascicular cambium and cork 2 7of -Rifg EEGEACT IR oS aﬁw
cambium from fully differentiated Parenchyma DRI WA Bid SRTT BT o, SerERw
cells, is an example of - g -

(1) Dedifferentiation  (2) Regeneration (1) PR @1 (2) gTogyes &1

(3) Redifferentiation  (4) Capacitation. (3), gefddeT @1 () IrgarST BT

(5) Question not attempted (5) =i v

3. Which soil water is available for plants to use? 3. P -5l 9ISY SYAIT ¥Y SURl Y&l

(1) Gravitational water ?:; _—

(2) Hygroscopic water o *

3 CZ]firIIary 1;/atf.:r () sl i

(3) BRPT 5t
(4) Chemically bound water (4) WIS 9 O
(5) Question not attempted - (5) rgaRa U=
4. The Oxygen acceptor in Photorespiration is - 4. yerer TgeE H Sifedio I g @ —

(1) Ribulose 1, 5-bisphosphate (1) sgels 1, 5-Rawiae

(2) Leghaemoglobin (2) TrrEFrAIT

(3) Oxaloacetic acid (3) sliqareifes s

(4) Phospho-enol Pyruvate (4) BiPIENT TR

(5) Question not attempted (5) IrgEiRa e

5. 'What does Elaioplasts store in plant cells? 5. qey PIR@RT ¥ sAEeRe | G| e

(1) Nucleic acids (2) Oil and fats & . )

(3:) Proteins (4) Starch :;; ;ﬁéﬁ?{n “al g; ij;m i

(5) Question not attempted (5) srgaRa T

6. Which of the following statement is correct with 6 377 ¥ & vromgsl & Tl ¥ By o |
reference to Enzymes? ) 87 )

(1) Isomerases catalyse linking together of two (1) SrgERSIe asf AT & Mo F g B
compounds. SR ?t?ﬁ gl i

(2) Zinc is co-factor for peroxidase and catalase. (2) ST RARAST 7 Eﬁm P HEDR T

(3) Catalytic activity is lost if the co-factor is @) wonet ¥ A TSR IR R

‘ SR, @ T SeRE fatefieran s &
remqved from the enzyme. S &)

(4_) Enzyme carboxypeptidase c'atalyse the (4) GorsH EFI'sﬁ?RﬂﬁTEﬂi'éﬁ RIS WSS
breakdown of hydrogen peroxide to water @ difedioT 9 o § RaEvsT 97 SaRg
and oxygen. BT 2 | &

(5) Question not attempted (5) sraRa ues §
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7. From the given features how many are

associated with facilitated diffision?
(1) Uphill transport

Gi) ATP dependent

(iii) Highly selective

(iv) Require membrane protein

(v) “Sensitive’ to Inhibitor

‘(vi) Along concentration gradient
(14 5

@3 (4) 2

(8) Question not attempted

- Consider the given statements and choose the
correct answer -

Assertion (A) - Secondary immune response is:

quicker and highly intensified
than pn'mar); immune
response.
Reason (R)- Our body appears to have
memory of the first encounter.
(1) (A) is correct but (R) is not correct
(2) (A) is not correct but (R) is correct,
{3) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)
(4) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(5) Question not attempted

- 'Which of the following statement is correct in

reference to the Allosteric enzymes? ,

(1) A rectangular hyperbola-is obtained when a
graph of Vp is plotted: against substrate
concentration.

(2) There is a common regulatory site for all the
subunits of an allosteric enzyme.

(3) They do not obey Michaelis-Menten ;

Kinetics.
(4) Always consists of one protein subunit.
(5) Question not attempted

faemor & wdfta &7

@ Rl oRaes

() ATP FrR

(itiy S qUITHD

iv) fEreel W @ Sraggean
) Rve & ufy g
(vi) ST YOOI B A

(1) 4 . @5
@3 @2
5) argaiRa g .

8. g T Ferl W, AR IR vd FE faweg
o -
W(A)—%ﬁwqﬁ?mqﬁrmmﬁm

wioren gfshar o et 4 9w
5 g sfe—da Bt * 1 '
HRI (R) — TR IR ¥ W qous & Ffd
T oxEd R
(1) (A) & ? AfPT (R) 7T &
(2) (A) TTera & AP R)TE B
(3) R (A) T (R) TEI &b (R), (A) BT &
@) ST (A) T (R) & & @2 (R), (A) &1 &I
TR B

(58) rgaRa W

9. TR Tgd & e # BT HUT el

&7
(ﬂVm%&mw%mmaﬂﬁw
T JRAIBR AfTRIAT U BT 2 |

" (@ YereRE TTed @ T suseEdl & R

e & fAf e e gar ¥
(3) % Higfr—e TR B I T
T E R
(@ﬂéﬁ@%’rm—mmfﬂwm%l
6) argaRa we
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1.

.12,

0. Which of the followmg statement:is correct?
() In an Aquatic ecosystem, Detritus Food
Chain is the major conduit for energy flow, .

(2) The “Stariding Crop” is measured as the miass.
of living organisms or the number in a unit

area.

(3) Each trophic level has a certain mass of living
material at a particular time called as the
“Standing State”.

(4) In a Terrestrial ecosystem, a much larger
fraction of energy flows thrdugh the Grazing
Food Chain than through the Detritus Food
Chain. '

(5) Question not attempted

Select the incorrect statement -

(1) Imbricate aestivation is the characteristic of
bean flowers.

(2) The placentation in tomato is an axile type.

(3) In racemose inflorescence flowers are borne
in acropetal succession.

(4) Citrus has polyadelphous stamens.

(5) Question not attempted

Which protein in blood plasma is responsible for

Osmotic Balance?

10,

11.

12.

GET IT ON
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= & @ BT FuT T 87

(1) Srellg wIRG ¥ aTRT @Wrer sjgen w
TarE BT FeTaqol e ¥

@) "= e B S SRS & AEr ar
SIS &3 3 |e | Ay o g

@) s IR v w® W v WX @
Siifes gerf @ $5 @M A B & R
"GS] G HEl I B

(4) wrelie TIRRerfie o5 % sk @rer—siwen i

B Gl ¥ AR G €l §RT Bl IS
Holl gared Rt §1 5
(5) srgaa 9=

AT FU BT T BT —

(1) RO qued o wRmt @ gsif &
fafre wweror |1

(2) THRR § Fer deveE B ¥

(&a@wmgwﬁgmramﬁwﬁzﬁq#aﬁ
B

(Mﬁ;’ﬂﬁagmfrgﬂ‘awaﬁ%l

(5) sraiRa we

Wwﬁaﬁﬂwmﬁﬁwﬁaw

D for) SeReEr) &7

(1) Albumin (2) Globulin (1) gegfim (2) "agfer
(3) Fibrinogen (4) Troponin (3) BrefE=NH @) gaf=
(8) Question not attempted (5) sgaIRa we

13. In 2 healthy adult human glomerular filtration 13- U vl 9k 799 ¥ TARoeR FEET o
rate is - BRI & —
(1) 1,80,000 mi/Day (1) 1,80,000 fAef. wfafes
(2) 1.80 litre/Day (2) 1.80 &iex gRifk=
(3) 1800 litre/Day (3) 1800 <flex i
(4) 18,000 mi/Day E (4) 18,000 feht. wfdifam
(5) Question not attempted L (5) srgaRa we

14. Which one of these animals have three 14 FimifoiEa § ¥ fbw o § 99 @6 waa
chambered heart? TRIT ST 27
(1) Hyla (2) Rattus . (1) Bt (@) Y5
(3) Psittacula (4) Hippocampus (3) Ryergen @) Ry
(5) Question not attempted ' (5) IR e :

44 - D Page ,4,of.3i'
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15. Which of the following is the correct sequence  15- fo1 # & @irar gepry Fmfor &1 eI B

of events leading to formation of sperm? & R

(1) Spermatogonia — spermatozoa — primary -
spermatocyte — secondary spermatocyte - () eTIeTT — G — RIS b HIR
-spermatid - fadas g5 PIR@T — FHOET

2 SPennatogonia-—)‘p;imary spermatocyte — (@) s > TR T PR =
spermatid — ‘secondary spermatocyte — .
spermatozoa ' Pl — faciias g PR — oY

(3) Spermatogonia — primary spermatocyte —> (3) SEBTOST, . WIS T BRI — Bl
secondary spermatocyte — spermatozoa — i
spermaatirjll ’ ’ ’ » Eﬁ‘rﬁﬁﬁr =¥ - '

(4) Spermatogonia — primary spermatocyte — (4) FeH1ILo — Wi Yob Pifrepr — el
secondary spermatocyte —  spermatid — P BIRBT —> YEHOIA — I
spermatozoa

(5) Question not attempted (5) Srgaika 2

16. Which of the following is not a part of Innate 16 fFrfaiRaT & & B SeiTa Hfed HT 533

Immunity? (e &7

(1) Interferons (1) SexmRI=

(2) Polymorpho-nuclear leukocytes (2) SEET-BED WA

(3) Acid in the stomach (3) e # aF

- @G @G
(5) Question not attempted (5) srpaiRa uw
17. Which of the following statement/s is/are true for 17 /1 & &/ @i/ PR T fRIse B g

Viroids? | 8 /8?

(1) It has low molecular weight RNA as genetic (1) sud iR YsRl HH VMR dren
material. IRYATY. BT 8 |

(2) it was discovered by Beijerinck and is (2) 32 SSIRFE gRT GISlT 747 o el I faureg

. smaller than virus. ¥ Bier BT ©

(3) It lacks protein coat. (3) 3 WA maxvr SIguRerd e B |

(4) Both (1) and (3) @ ()T @)

(8) Question not attempted T EN (5) IrpaIRa uew

18. In Human Pedigree analysis symbol [0 "18. grq deael faveme # wie (=0 eus
represents - g -

(1) Mother with female child (1) wraT & AR AeT 9

(2) Father with male child (2) fer & \ref R e

(3) Mating between relatives (3) Seferat § gHrTE

(4) Mating between non-relatives (4) F—<dftEt #§ gHr

(5) Question not attempted (5) IrgaIRa T
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19. Which statement is wrong for Krebs-cycle? 18. 39 9% @ o BT B o 27
(1) There is one point in the cycle where FAD is (1) g9 = 4 & {5 W FAD & FADH,#
reduced to FADHy SEEER] m gl _
(2) There are three points in the cycle where @ Ef w5 | ;ﬁ;@?@ T NAD" %I NADH,
NAD™ is reduced to NADH;, SRR .
(3) During conversion of succinyl CoA to @ R & _c'awa's G;TQ'&??I N e H
succinic acid, a ‘molecule of GTP is AT BT | Sl @ T e
synthesized. (4) 0 T HT IR TRISTH DT B
(4) The cycle starts'with condensation of Acetyl UIZORIP oF B AR wERG Se] Rige
- CoA with Pyruvic acid to form Citric acid. 3T 999 ¥ BT B
(5) Question not attempted () g weA .
20. Who first described a live cell? 20. gdyer ST BT @1 quiT fhem far?
(1) Theodor Schwann (1) RriSR w@™
(2) Robert Brown (2 e s
(3) Robert Hooke @) e 5T _—
(4) Anton Von Leeuwenhoek (4) TN 99 qEle
(5) Question not attempted (5) rgaRa g
21. The Grazing Food Chain (GFC) begins with 21 TRoT e Gl TGP 4§ URA Bl § ol
Autqt_rophs' whe.reas the Detritus Food Chain IRE We Sigell TR By & —~
E‘gFglze]:fgl;p:;m (2) Saprotrophs o 5 -\B{ @ W‘ﬂi;}f
(3) Herbivores (4) Dead organic matter @ 3 @) A
(5) Question not attempted (5_) IIRIRT Y&
22. Which Plant Growthi Regulator (PGR)is used to ~ 22. B9l Uraq i rame AfecT ufshar a1 3
fasten malting process? BT 87
(1) GA4 () GA: (1) Sy, () iy,
) GA4 @ GAs (3) sy, (4) Sig,
(5) Question not attempted () argaiRa w=A
23. Based on the results of Dihybrid Cross, Mendel 23 f2wax WexoT & qRoHY P IR W, ded I
proposed which of the following Laws? FrafeRaa 3 9§ o faw senfa fear?
~ (1) Law of Segregation (1) feaem &1 Fem
(2)’ Law of Dominance (2) gwifer o1 e
(3) Law of Co-Dominance (3) wE—yifee w1 e
(4) Law of Independent Assortment i () w3 suegE o1 |
(8) Question not attempted (5) 3rgaiva e
24. What percentage of the earth’s land area do 24 Wig RIfemT qeeere (Eewiic) gt 9 o 9f
biodiversity hotspots cover? &G BT ST UReId 9RT sewied Fea 57
(1) More than 3% but less than 4% (1) 3% & J¥F TRy 4% Q P
(2) More than 2% but less than 3% . ;ﬁ () 2% 9 S WY 3% 9 BH
(3) More than 1% but less than 2% o @) 1% ¥ 3T WY 2% T 59
(4) Less than 1% @ 1% ¥ &0
(5) Question not attempted _ (5) srgaia o=
44 - D Page 6 of 32
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25. Match the Column-I with correct statement of 25
Column-H -
Column-I
(A) Golgi-apparatus
(B) Lysosome
(C) , Smooth Endoplasmic Reticuium
(D) Ribosome
Column-IT
(i) Synthesis of Proteins
(ii) Synthesis of steroid hormones
(iii) Formation of glycolipids and glycoproteins
(iv) Digesting Protein, Carbohydrate,. L1p1ds
and Nucleic-acids
Choose the right from the options given below -
(1) (A)-, (B)-ii, (C)-iv, (D)-iii
(2) (A)-iii, (B)-iv, (C)-ii, (D)-i
(3) (A)-iii, (B)-ii, (C)-iv, (D)-i
(4) (A)-iv, (B)-iii, (C)-i, (D)-ii
(5) Question not attempted

26. In cleavage - 26.

(1) early divisions are irregular, later divisions
are regular. '
(2) early divisions are regular, later divisions are

irregular.

GET IT ON
Google Play

Pral § fed-Il & F& FoFl & A
P —
BieH-I
(A) TiTesll SUHRT
(B) <msErEM
(©) Pt Sase S
Dy TaaH
BieH-II
@ W& ey
() wRGS TMEM BT AYvo
(iii) TIRBIINE T TAFPIE B T
@) mﬁwmﬂ'qﬁﬂ?ﬁm

BT TGl

I T Aol § ¥ 98 &1 989 DR —
(1) (A, (B)-ii, (C)-iv,. (D)-iii

(2) (A)-ii, (B)-iv, (C)-it, (D)-i

@) (A)-iii, (B)-ii, (C)-iv, (D)

(@) (A)-iv, (B)-ii, (C)-i, (D)-it

(8) srgaiRa we

fagem & -

(1) groaeh fvror sifrafia ok a1e & Frafa
B Bl

(2) wpoed Rwrer Frafi ok a1e B SR
B E1

(3) all divisions are irregular.  § (@) it fywie sifafia 8 €1

(4) all divisions are regular. - - :h; L @) e R frafa 89 #)

(5) Question not attempted (5) SFRIRT T

27. Consider the Pathogens and Diseases — 27. JHRF AR I | ﬁiﬂ'\’ PIfog —

Pathogens . Diseases ~RTPRD AT

(A) Prion (i) Potato spindle tuber (A) it () e Ruser o

(B) Virus (ii) Mumps - (B)TE (ii) TR

(C) Viroid (iii) BSE ©) fRgs (i) T,

(D) Bacteria (iv) T.B. (D) TR (iv) S4

Which option is matched correctly? BT fAdey gaferd 04

(1) (A)-ii, (B)-ii, (C)-iv, (D) (1) (A)-iii, (B)-ii, (C)-iv, (D)-i

(2) (A)-i, (B)-ii, (C)-iv, (D)-iii (2) (A)-, (B)-ii, (C)-iv, (D)-iii

(3) (A)-iii, (B)-ii, (C)-i, (D)-iv (3) (A)-iii, B)-ii, (C)-i, (D)-iv

(@) (A)-iv, (B)-iii, (C)-ii, (D)-i (4) (A)-iv, (B)-iii, (C)-ii, (D)-i

(8) Question not attempted (5) IR g

44.- 1 Page 7 of 32
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28. Which statement is not true about the nerve cord ~ 28- PiSc B AHT o9 @ IR # e | B
in chordates? , DU GG T8I 87
(1) 1t is located dorsal to the Notochord. (1) 7€ gogue & g 9T # Rerg ger &
(2) It is ganglionated. = (2) 7€ qReerE g § |
(3) It is hollow. Eﬁ (3) IE EIgel BT B
(9 It is located outside the Coelom. ’ 4 g8 QE{ET @ rE} g g 8
(8) Question not attempted (5) srgaiRa =
29. Which of the following plant groups contribute 29 =7 ¥ ¥ P47 wray HE Gl R FA BlaT
50% of the total Carbon-dioxide fixation on the STgsiiRgs ReidRor 4 50% &7 IREM <ar
Earth? & '
(1) Pteridophytes (2) Angiosperms (1) RewReT (2) 3rgereiSit
(3) Algae (4) Gymnosperms @) Yare @) =S
(5) Question not attempted (5) SrgIRe W
30. Which of these is not a part of bile? 30. 5 & pivr T @1 wRT AE 87
(1) Cholesterol (2) Phospholipids (1) lersler (2) wiepifafis
(3) Bilirubin (4) Lipase (3) faferafa (4 Tz
(8) Question not attempted (5) srgala w1
31. Identify A, B and C in diagram — 31. R # A, B3R C & ygaify —
I . ——
C
A
(1) A =Xylem, B = Cambium, C = Phloe
(2) A =Xylem, B = Phloem, C = Cambium i ,
. (3) A =Phloem, B = Xylem, C = Cambium (3) A =T7dIgH, B = Wigem, C = DiRm
(4) A =Phloem, B = Cambium, C = Xylem 4) A =9agH, B = $9I¥, C = Srge™
(8) Question not attempted (5) srgaRa we
32. Which DNA sequence cannot be a Palindrome ~ 32- P& SLU-T, IPY TH Ufeme™@ wie
Restriction Site? ®IeT el & WHAT 27
(1) 3’GAATTC 5’ (2) 3'AATATT &' (1) 3'GAATTC 5' (2) 3’ AATATT 5'
5'CTTAAG 3’ 5'TTATAA 3’ 5'CTTAAG 3’ 5'TTATAA 3’
(3) 3'CTCAAT 5’ (4) 3'AAGCTT 5’ (3) 3'CTCAAT 5' (4) 3’ AAGCTT 5’
5'GAGTTA 3’ 5'TTCGAA 3’ 5'GAGTTA 3’ 5'TTCGAA 3’
(5) Question not attempted , (5) spaRa we
33. The two key concepts of Darwinian Theory of 33 T & RoNar & REid @ =) EL ]
Evolution are - GHTY & —
(1) Use and disuse of organs (1) 3Tl & IHIRT TG ORI
(2) Branching descent and natural selection (2) IrEE SR 3R Upfie aRur
(3) Catastrophe and saltation (3) faedw iR wfeew™
(4) Sudden and large changes (4) IHER R 8 uRadH
(5) Question not attempted (5) argRIRa u=A
44 - D Page 8 of 32.
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38, Consider the Assertion (A) and Reason (R) and 34 S (A) T8 BRI (R) R faR HIvR Al¥
select the correct option — T2 ey &7 999 BT — B
Assertion (A) - During gel electrophoresis SRBU (A) - S eI ¥ DNA a1

];1:1)1 molecule move towards e @ R T B
Reason (R)- The DNA molecule is PRI (R) - DNA I FETer ST 2 <
negafively charged. o -
Code - (1) (A) T & g (R) W &
(1) (A) is incorrect but (R) is correct @ (A)TE ®R) AT T8 T g (R),(A) BT &
(2) Both (A) and (R) are correct but (R) is not the Rl 98] &
corect reason of (A) . @) (A) 7§ (R) TF1 W€ & &R (R),(A) BT G
(3). Both (A) and (R) are correct and (R) is the
A PRI
correct reason of (A)
(4) (A) is correct but (R) is incorrect (4,) (A) wE & fog (R) e &
(5) Question not attempted (5) SrgaRa e
35. Extraction of DNA bands from cutout of gel 35 I fFrgaeaer § e IR e ™ i)
pieces in gel-electrophoresis. is known as - & aoascci_ ] EAYAY de@ w1 fPrpor FEa
g -
(1) Replication (2) Elocution
(3) Diluti (4) Eluti h s ¢ ) &gl
Dilution ution (3) TR (STSEF) (@) EfreT (TeE)
(5) Question not attempted (5) oraIRa WeH ‘

36. Calculate the solubility product of Ag2SOs, ifits ~ 36- Ag:SO4 &  fdeiacl oI P IO
solubility is 2.5x10molL"! at room temperature. BT, Iﬁ e AOHH R gD fer
(1) 6.25%10° (2) 12.5%10%* 25:40%molL &1

DX DX
(3) 15.625x10° (@) 62.5¢10° e & R i
e i (3) 15.625x10° (4) 62.5%10°
(5) Question not attempted ) N
37. The process which is not an endothermic in  37- T8 WY S ST TP BT S & —
;‘:;t“re is - o 2 (1) Na(g) — Na'(g) + € (2 Ar(g) + & — Ar(g)
Na(g) — Na'(g) +¢ (2 Ar(g) +& — Ar(g)
y @) H(g+e - H @ o -— 0%
(3) H(g) + & — H(g) @O (g) +e— 0%(g) (g)+e — Hig) (g) + e — 0%(g)
(5) Question not attempted (5) ST
38. The set representing the correct order of ionic 38. qafys el @ Gl B9 B YIRK B
radii is - e e B — '
(1) Na* > Li* > Mg* > Ga** > AP* ESE (1) Na* > Li* > Mg?* > Ga** > AP
(2) Na* > Mg?* > AI** > Li* > Ga** ¢ (2) Nat > Mg? > AP* > Li* > Ga*
(3) AR+ > Mg?* > Na* > Ga™ > Li* (3) APP* > Mg?* >Na* > Ga** > Li*
(4) Na* > Li* > Mg® > AP** > Ga™* (4) Na* > Li* > Mg > Al** > Ga**
(5) Question not attempted (5) SrIRG e
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39 The comect decreasing. ordei of the first 39 g R @ Tl B v SR TR @1
ionization enthalpy of 2™ period elements is - el RIS HI & —
() Ne>F>N>0>C>Be>B>Li (1 Ne>F>N>0>C>Be>B>Li
@ Li>B>Be>C>0>N>F>Ne @ Li>B>Be>C>0>N>F>Ne
B) Ne>F>0>N>C>B>Be>Li (B Ne>F>0O>N>C>B>Be>Li
@) Ne>N>Be>F>0>C>B>Li () Ne>N>Be>F>0>C>B>Li
(5) Question not attempted “"" () SrpiRe e

40. How much carbon dioxide is produced when 40. 3.42 g GPN (CoHpOn) & sifediem ?ﬁ
3.42g of sucrose (C12H2011) is completely burnt Suerfd # qof ged W fhoel @i
in oxygen? STS3IISS S~ BT 27
(1) 440g (2044 g (1) 440¢ 044g
(3) 528.0 ¢ 4 528¢g (3)5280¢g 4 528¢g
(5) Question not attempted (5) SFRIRa wem

1. What will be the wavelength of a ball of mass ~ 41. 1 kg T@FIM @R 1msaT & T B¢ W& W
lkg moving with a velocity of 1ms?? T B et F B (1=6.626x104Ts)
(r=6.62610"35) (1) 6.626x107 @ 6626:10%m
(1) 662610%m (@) 6.626x10%m > o Teedm
(3 1326x10%m (4 10.38x10%m (3):13.26x10%m  14) 10.38x10% m
(5) Question not attempted (5) argae v

42. Calculate the pH of M/200 Ca(OH); - 42. M/200 Ca(OH), & pH o1 70T ST —
(19 (2 12 Mo () 12
3) 10 @7 3) 10 47
(8) Question not attempted * (5) 3rgiRa e

43. A compound contains 4.07% hydrogen, 24.27% 43 T AR 3 4.07% BISRINH, 24.27% aﬂzh 3R
cartbon and 71.65% chlorine. Its empmcal 71.65% TR € | g HATGURT G & —
formula is -
(1) C;H,Cl, (%) CCLH g g;"g“gz K :2 gghg
(3) CoHCl,, (4) CH.C1 Y Y
(5) Question not attempted (8) srgaRe we

44. Among the following select the electrophile - 4. it § A soleg g o T BT ~
(1) CHs— NH, (2} BF; (1) CH;- NH, (2) BF;
®) cH—0—H  @mG: ®en—0—H  @HG:
(5) Question not attempted ®) gaRe e

45. In which of the following compounds iron has 45 fF=foReq AP § ¥ o ARRA Pl
lowest oxidation number? HTeRAIRo] AT e 87
M Ks [FC(CN)Q} (1) K3 [Fe(CN)s]
(2) [Fe(CO)s] (2) [Fe(CO)s]
(3) FeSO4.(NHs), SO4.6H0 ) &i{ ] 3 FeSO4.(NHs): SO46H,0
(4) K4 [FG(CN)s] . il nf?; )] K4 [Fe(CN)s]
(5) Question not attempted . . (5) srgaia =

44-01 Page 10 of 32
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47.

46.

48,

50.

51.

The number of radial nodes for 3p orbital is -
M2 (2 4.

@1 @3

(5) Question not attempted

The suitable” method used to separate different
components of crude oil in petroleum industry
is -

(1) Distillation under reduced pressure

(2) Simple distillation '

(3) Steam distillation

(4) Fractional distillation

(5) Question not attempted

uv
+ 80, ——>
. 500K

Product [X] in the above reaction is -

X

(1) Hexachlorobenzene (2) Chlorobenzene
(3) BHC (4) Benzyl chloride

* (5) Question not attempted
49,
" decreasing order of stability —

Arrange the following carbocations in their

A B o g
(1) A>C>B @dC>B>A

B C>A>B @ B>A>C
(5) Question not attempted

One miole of PCIs is heated in a closed container
of 1L capacity at 25°C. At equilibrium 20% PCls
is not dissociated, What will be the value of
eqqi]ibriu,m constant (K¢) at this temperature?
(1 1.6 r (0.8

(3)0.2 432

(5) Question not attempted

The correct decreasing order in their acidic
behaviour of the following alkynes is -

(1) CH:-C=C-CH;> HC=C-H > CH:-C=C-H
(2) CH;-C=C-H > CH;—-C=C-CH;3> H-C=C-H
(3) H-C=C-H > CH;-C=C-H > CH;-C=C-CH3

(4) CH;-C=C-CH; > CH;-C=C-H > H-C=C-H

(5) Question not attempted

46.

47.

48.

. 49.

50.

51.

(1) 2

3p et # e Bodi Aie 87 ’
@ 4

@1 @3

(5) argaIlRa W

IRIRRM SO § el dd @ I Teal 3
TIF HY BT SUGAT A § —

M =1 §9 W A

(2) TrIRvT SfTaA

(3) W 3

{4) ST T

(58) IR ¥

uv
+ 30, —m>
500K

SR Affpar § s [X]8 —

(1) taEERaGE  (2) TR
@) Srga (4) dRerainTgS
(5) srgala g

TC P4 ¥ aRed B —

D g

(MA>C>B
B)C>A>B
(5) IR W2
25°C TR & oiiex &9dT el 98 Ui 8§ U Aid
PCls <l 74 fham I & | ARl R 20%
PCls fouiftra <@ 21 & 39 AR W
raTeRel Reris (Ko) &7 J19 T 8R1?

IX]

@ C>B>A
4B>A>C

(116 (2 0.8
(3) 0.2 4 3.2
(5) SrgRIRT W

T B9 § —

(1) CH;~C=C-CH;> HC=C-H > CH:-C=C-H
(2) CH;-C=C-H > CH;-C=C-CH; > H-C=C-H
(3) H-C=C-H > CH;~C=C-H > CH;~C=C-CHs
(4) CH;-C=C-CH;> CH;~C=C-H > H-C=C-H

(5) SFIRT U
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52. Match the Column-I (Molecule) with Column-II
(Shape) and select the correct code —

. Column-I Column-II
(Molecule) (Shape)
@) SO, (a) See saw
(ii) -SFs b) Square planar
(iii) BrFs () Bent
(iv) XeFys (d  Square pyramidal
Correct code is -

(1) i-c, ii-a, iii-d, iv-b  (2) i-d, ii-c, iii-b, iv-a
(3) i-b, ii-c, iii-a, iv-d  (4) i-aydi-b, ifi-c, iv-d
() Question not attempted

(CH,C00), Mn
53. 2CH,—CH, +30, ——> [X]

A

reaction is -
(1) HCHO (2) CH;0H
(3) CH:COOH (4) (CHy);~C—-OH,
(5) Question not attempted .
54. The type of hybridisafion in [Co(NH3)s]** ion
is -
(1) sp’d? (2) dsp?
@3) sp’d (@) &’p®
(5) Question not attempted
55. The most stable structure of CIF; molecule is -

M. F @ g l

N ON:

=

96. Peroxide effect in alkenes proceeds via which
mechanism?

(5) Question not attempted

The major product [X] formed in the above

o
%’gg (1) HCHO (2) CH;0H
(3) CH;COOH (4) (CH3);-C-OH
() srgxiRa g
54. [Co(NH3)6]** IR & HHRUl &l YR & —
(1) sp’d® (2) dsp®
(3) spd @y &sp?
(5) srgxiRa we=
5. CIF; 317 P AqiRIp QIR GeEET & —
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52. piem—| () BT Hiew-Il @pf) A FAfer

PIT TT TS G BT 9T BTy —
PleH—1 Pica—Ii
(D) (an?ﬁr)
@ SO @)
() SE (b) am‘ RS GIS]
@) BiFs © T
(iv) XeFs @ T AR
e GE ® —
(1) i-c, ii-a, iii-d, iv-b  (2) i-d, ii-c, iii-b, iv-a
() i-b, ii-c, iii-a, iv-d  (4) i-a, ii-b, iii-c, iv-d

(5) IgRIRT TT

(CH,CO0), Mn
53. 2CH,-CH, +30, ———> [X]

SR AT # 979 arem g& S [X]

56. Vel H Wigdigs yag e iRy gm

(1) Free radical chain mechanism (1) g9 qerop g fhafafer
(2) Nucleophilic addition mechanism (2) TifveEE AR Sharafy
(3) Electrophilic substitution mechanism (3) sergEEr gioremus fermfafy
(4) Electrophilic addition mechanism (4) TS AR BTty
(5) Question not attempted (5) ergeia ye
44-0 Page 12 of 32
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57. Increasing order of electronegativity values 57- C, N, Si e Paedl ! fagaareonciaar B AAD
(on Panling scale) of elements C, N, Si‘and P'is- (@ifeiT bt UR) BT agar §W FH © —
(1) C<Si<N<P (2 P<N<Cx<Si (1) C<Si<N<P (2 P<N<C<Si
() Si<P<C<N 4 P<Si<C<N () Si<P<C<N (49 P<Si<C<N
~ (5) Question not attempted (5) argaiRa W
58. The conjugate base of perchloric acid is - 58. ReAIRD 3T BT GG 8R © —
(1) CIOs (? clo4* (1) C105° (2) Clo4+
3 ClOy (4) CIO« (3 C10y 4 Cl104
(5) Question not attempted (5) SgaRa T
59. Which of the following set of quantum numbers 59 5l THIY & TF Solag & g SH@ Tl
is NOT possible for an electron.of an.atom in its gven ¥ FrefoRaa § 9§ wdiven degRll &
ground state? P S 9T T8I 57
Mn=3,1=0,m=0,5=+> (n=3,1=0,m=0,5=+3
@n=2,1=1,m=-1,s=+> , @n=2l=lm=-1, s=+2
@n=3,1=2,m=1,5=— E @n=31=2,m=1s=—>
(4)n=4,1=2,m=-3,s=-—% (4)n=4,1=2,m=-3,s=—%
(5) Question not attempted (5) 3riRa W
60. A reagent which lowers the oxidation number of 60. gz aifgve i Y T yeef # &0 o &
an element in a given substance is - SifeRfYpRYT AT T & —
(1) Reducing agent  (2) Drying agent (1) IUEa® qore (2) =4 quie
(3) Levelling agent . (4) Oxidising agent (3) AafeiT Yo (4) SifRIPRS Tore
(8) Question not attempted (5) IR wE
61. Arrange the following in increasinig order of 61 fF=feiaa &1 wewigSG o & ged HA A
covalent character — NaCl, MgCla, AlCl3 FaRerd I — ‘NaCl, MgCl, AICl
(1) NaCl < AICl3 <MgCh (1) NaCl < AlCl < MgClz
(2) MgCl, < NaCl < AlCls (2) MgClz < NaCl < AlCIs
(3) NaCl < MgCla < AICI3 (3) NaCl <MgCl < AlCl3
(4) AICls < MgCl> < NaCl (4) AICls < MgCl, < NaCl
(5) Question not attempted () SFiRa ued .
62. The correct TUPAC name for the following 62 fmifoiRad D @1 @& IUPAC M & —
compound is — ' ' CH o
H g CHq~ (l: —CH=CH~ cn,—g-ou'
CH,~ ? —CH= CH~CH,—C—0OH ) éH; '
ot o (1) 4 — AR e — 3 — RS IR
043 e
(3) 4 — Methylhex — 2 — enoic acid .(3)‘ 4= ~ 2 — e Il
(4) 5 — Carboxy — 2 — methylpent — 2 — ene @ 5 — FrieE — 2 — AT ~ 2 — &
(5) Question not attempted O IR T . ’
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63. The reaction given below is an example of — 63. senforRae fAfhar Semmxor & —
d cl
© . 60, Anhydrous O ‘CI . sl © . Anhydrous c _cl . o
AlC, ) . A
a cf a Cl
c cl
(1) Electrophilic Substitution Reaction =~ = (1) ST gfeReys Sififar &
(2) Electrophilic Addition Reaction iE (2) SeTETR=E YIRS AR B
(3) Free Radical Addition Reaction & (3) g oI ANTIHD AIfAfHAT 7
(4) Nucleophilic Substitution Reaction (4) RS ufReue sififbar &1
(8) Question not attempted (5) IR e

64. A small loop of wire of area A= 0.02 m%, N=50 64 A = 0,02 m? 855, N = 50 G T R = 10Q
turns and resistance R = 10 Q is iriitially kept in URRE BT AR FT' T BIET qU GRY § TH
a uniform magnetic field B in such a way that the UHHEH g 847 B 9 59U YHR & oIl
magpetic field is normal to the loop. When it is & b o &3 oW & oaaq BT | o9 59
pulled out of the magnetic field, a total charge of FEGII &F | g8} Wil T &, Eek oA
Q = 2 x 107°C flows through the loop. The AT Q =2 x 10°5C Yo =xr 2| B
magnitude-of magnetic field Bis - &3 B BT gRr & —

Mosx10*T @ 4x104T (1) 05x 104 T (2 4x104T
() Zero @2x10*T @) 7= @2x104T
(8) Question not attempted (5) srgaRa T .

65. An object is dropped from a height -of 45m. 5. ya o Bl 45m Has ¥ PR o ¥ e
Another object is thrown downwards with T 9 B, UEell o & FRM B S@
velocity ‘w’, just after 2 second of the release of 2 HPUS 916, ‘0’ T 9§ AR Y 3R BT o
the first object. If the two objects r’e‘afh.the g gl ?Ffriﬂf[ﬁ S U UF arer qﬁiﬁﬁ &
(gfaqc?;i:t?%i%l/esg’) then the value4 of ‘0’ is ?—? @ BT AN § — (g= 10 m/s? R )

(1) 225 m/s (2 90 m/s” (17225 m/s (2).90 m/s
(3) 40 m/s 4) 45v2 mw/s (3) 40 m/s () 45v2 m/s
(5) Question not attempted (5) srgaie we

66. An object of length 2.0 cm is placed  66. 2.0cm i TF T, 12cm Bivd ™D TH
perpendicular to the principal axis of a convex A I D A& 38T & iaaq & B | qE] o
lens of focal length 12cm. The object is at a ¥ 8.0cm T W g, 79 —
coytance of B o P rrry iy (1) Tfifia <A & @ 6em T BT B |

e image is erect and of size 6cm. : o :
(2) the image is inverted and of size 3cm. (@ Hﬁlﬁﬁ SOPMH § TR 3o ST 7 €|
(3) the image is inverted and of size 6cm. ) gﬁm gaﬁ! T & T Gem ST BT 8|
(4) the image is erect and of size 3cm. (4) Tfde T & TR 3em Y BT
(8) Question not attempted (5) argaiRa W

67. A certain blood vessel has a diameter of 0.6 cm  67- Tas iR vad QIfSST BT <1 0.6 I & &R
and carries blood with [an average speed Ig 3id Ter 16 TAL /DTS I IR o S
16 :lxln/sec. TI;e b};i)d veassiceé brartlches fu(l)tg two Tl ¥ga qiRsT 0.5 Q. @ U @ gl o
smaller vessels with equal diameters of 0.5 cm. Ropl 3§ R : :

Find the average- blood speed in one of the E}Iﬁ o n i . S W E ma
smaller vessels. P ieepreit % & v A ofred v = 99 |
(1) 5.55 cm/s (28 cm/s (1) 5.55 cm/s (2) 8 cmy/s
(3)-11.52 cm/s (4) 16 cm/s (3) 11.52 cm/s (4) 16 cm/s’
(8) Question not attempted (6) srgma yew
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(2) Both A and R are individually true and R is
the correct explanation of A
(3) Both A and R are individually true but R is

(2 A T R TN -9 G & aen
R, A & U ren §
(3) A =T R SN SIeN—3el Wi & ofdd
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68. ABC is aright angled triangular plate of uniform  68- ABC U&% THEAM AIC B oG FrSiadR
thickness. Iap, Inc and Iac are moments of inertia @ 1 Ias, Ipc @1 Iac I AB, BC
about AB, BC and AC respectively, then - AC & URa: i el &, a9 —
A . A
B ‘B ] 30° c
(1) More information is needed to compare the (1) Tac, Iap @ Inc & A1 & il S & fog
values of Iac,1as and Isc &R I DY ARIDT B

() Iac=Isc=1Ias (2) Iac=Isc=Ian

(3) Iac > Isc>Ias (3) Iac>Isc>Inn

@) Inc <Isc<Ias (4) Iac<Isc<Ian

(5) Question not attempted (5) IR we

69. Assertion (A): A person with hypermetropiﬁ 69. af¥per (A): <E-gic 9 Jaw P Al

can see distant objects clearly . T Bl Eﬂﬂ?:ﬁ' P WL TG
but cannot see nearby objects @E Apal & afba fee &l
distinctly. ' TGN BT GRIE LT < el

Reason (R): This defect arises either 2 |
because the focal length of the SRY (R) : g TN AT I A oG DI Bl i
eye lens is too long or the ™ P ARG B A A g
eyeball has become too ~ e Igd BIC BF & HRYI '
small. I Bl B

(1) A is false but R is true (1) A 7o & ofT R @81 8

not the correct explanation of A R, A & 98 =T T &

(4) A is true but R is false @ A¥H T A R Te §
(5) Question not attempted (5) srpaiRa u

70. Two wires of the same material and same length 70 T 9aRf T4 AR oTWE g 1: 2 SIgU
but diameters in the ratio 1 : 2 are stretched by % gl diel 91 dRI $I G9M 9 §RT Qi
the same force. The pétential energy per unit i €1 SFl IRI @ ufiusie s Refis
volume of the two wires will be in the ratio - Holl T AU BN —
Mm2:1 (@4:1 M2:1 24:1
@ 16:1 @8:1 @)16:1 438:1
(5) Question not attempted (5) srgaIRa 9
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71- The only force acting ona 2 kg body asthe body ~ 71- x 3g] & ¥ URWM 2kg & TP TR W
moves along the x axis varies as shown in figure. PRI THATS gal 2 9 g9iv STAR dqetd]
The velocity of the body at x = 0 is 4 m/s. What 81 x=0 T I BT IT 4m/s &) x=3m W
is the Kinetic energy of the body at x = 3m? 9K DI RIS SOl g7 87

E@ E®
4 4
1 2 2
0o - ——t—x(w) o Nt
-4 -4 —
M43 (2207 (10471 (22071
3 127 @167J ) 127 @163
(5) Question not attempted (5) araIRa o

72 Two wires of same metal have same length but 72 I oI & ORI &7 TS A & fpg o @
their cross - sections are in the ratio 3 :*1. They - ITIRRY PIEr BT U 3: 1 T 52 HHNR
are joined in parallel. If the resistance of the P9 A el W &1 IR 9 99 9R BT gy
thlcketr wire is. 204, the total resistance of the 20Q 2, 8 AT BT Hel TR & —
combination will be - ) °2 20
() 100 @2 100 @20

3
@) 2 @ 150 (3) 13‘39 @ 150
3 . .
(5) Question not attempted (5) srilka ueT

73. The potential energy of a particle is given by 73 T& FU7 o Refe Foif U=A ~ Bx? gRT &)
JU=A- Bx* (where x is displacement). The SRl & (Gt x e 8) | o0 R o B
magmtude of force actmg on the particle is - el g7 BT YR & —

: (1) proportional to x? (1) x> & FAFERY

(2) constant (2) foag -
(3) inversely proportional to x? 8) x> & HANURN

(4) proportional to x @xa ﬂq‘@mﬂ

(8) Question not attempted (5) srpaiRT o

74. In the overhead view of figure, a 300 gball with 74 R & ol uRgea ¥ 300g & TF AT 6 m/s
a speed of 6 m/s strikes a wall at an angle of 30° B T T TP SIaR T 30° B DT W THIE]
an'd1 th‘e}gh rel}OlglldS_ Wi&h the same Spfied atrlld 2 qor B S & U ¥ S & B ®
angle. at 1s the impulse on the ball from the mm%\]ﬁaww T T R,
wall if the ball is in contact with the wall for I g 10ms @ BT AR a?gngﬁ FE -
10 ms? > ) |

6m/s 6m/s bmls Smis
30° 30
30° 30°
(1) 1.8 Ns SR @I 3R
(1) 1.8 Ns upwards '
(2) 180 Ns Hu% &7 3R
(2) 180 Ns upwards
(3) 180 Ns downwards (3) 180 Ns =i @ 3R
(4) 1.8 Ns downwards (4) 1.8 Ns 1 &1 3R
(5) Question not attempted (5) IrgailRe u== o
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75 5 body is dropped from a height ‘h’ equal to %,

" where R is'the radius of the earth. The speed of
the body when it hits the surface of the earth will
‘be (in terms of escape velocity ve from the
Surface of the earth) -

1‘ Ve 2Ve
()—-2 ()_2
3 4) Ve
3) ve ()‘/§

~ (5) Question not attempted

75 v g B~ B AR AR W W AR

GET IT ON
Google Play

%asmqezﬁa%f%rm%iaﬁzﬁm S
78 g @ wag W edvd ¥, o @ @

e W U AT ve B Al H) —
1) Ye 2) Ye
()ﬁ ()2
3) ve @) Ye

. B
(5) IR W

76. A wire elongates by ‘I’ when a load ‘W’ 15 76. T oR U ¥ fawiRa BT & oY 9 U@ IR
hanged from it. If the wire goes over a pulley and W deHrEn o g I AR U@ fﬁ‘\’?ﬂ K|
two weights ‘W’ each are hung at the two ends BIHN Teikdl 2 9o TUs EFf RRI W a1 R

. respectively, then the elongation of the wire will TRE W deadl S § o AR § f[awR
be - . oy ﬁrn- -
(1 @I & mr @1
2 2
(3) 21 (4) Zero - @2 (4) T
(5) Question not attempted (5) argiiRe U

77. In a hydroelectric power station, the height of 77~ T& il foerafd www ff g B HaAE
the dam is 10m. How many kg of water must 10 Hiex 81 10 MW fIga aifeRt S FE D
fall per second on the blades of a turbine in 1T T ewaET @ Beld W U Jopve fFad
order to generate 10 MW of electrical power? et THY R =RE? (¢ = 10 m/s? Eﬁﬁrl'q)
(take g = 10 m/s?) X v
(3) 10 kg/s @) 103 ke/s (3) 10" kg/s (4) 10° kg/s
(5) Question not attempted (5) IR e '

78. If the sum of two unit vectors is a unit vector, 78. gfe @) 3P AR B AN UH IHIE W B,
then magnitude of their difference is - A ST R BT YRAT & —

M2 _ 2 3 (M2 @3
(3) Zero _ 4 L (3) ' @ L
vz & vz
(8 Question not attempted (5) SrgIRa U2

79. Which one of the following statements is not 79. FyefiRad # ¥ PITAT U T T8I 87

(cgrrcct‘-’ (1) S T et B AT B W PR HRaE
Terminal velocity depends on the square of £ Forr g & E?IFEIT & SrpEFAaT 2
-the radius of the sphere and proportional to 3
the viscosity of the medium.

(2) With the increase in temperature the viscosity @ E‘aﬁ Rl Y P W EH & i
of liquids decreases while if increases in the i @) T O 99N W g © |
case of gases. . (3) TN BI THBROT ST @ W :mmﬁa

(3) Bernoulli’s equation is based on conservation 1

0 e, berisadmensonless quanty e, om0 FRa w8 B

eynolds number is a dimensionless quantity :

whose value decides the nature of flow of a HT*I:EQ?E: ured # ¥ D @ &l
liquid through a pipe. ) PRl & |

(5) Question not attempted (8) IrgaiRe I
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80. The upper half of an inclined plane of j'nciination 80. ¢ g B T AT T BT S AFART quidy
¢ is perfectly smooth while the lower half is e & oEfe Freem erfurr wrewr &1 TP
rough. A body statts moving from the rest at top T SRR W RARmERer 3 TR 9o 9y
comes back to rest at bottom. The coefficient of e R W U foRmmEaRen # o widl 3
friction for the Tower half is - GECRCCCIUECIR LU Ul & — /

(1 2 tang 2 cotd M 2 tang @ cotd
3) 2 coso 4 sing " (3) 2 cosf @) sing
(5) Question not attempted . (8) arpaRa e

81. The potential difference across a conductor is 81~ Th Fdd P RRE W fMaraR 'V = (4 £ 0.5)
found to be V = (4 £ 0.5) volt when a current of e I BT & STafs S 1= (1'.;_. 0.1) TR
I'=(10.1) ampere is passed. The resistance of HRT SR & W & | =@es BT vRRy § —
the conductor is - M) 4+090) @ @ (42050) 0
(1 4+0.90) Q (@ 4+050Q - -

() (4+0.25) 0 (4) (44035 O @) 4+025 0 4).4£035 0
(8) Question not attempted "(8) argaIRa we

82. If velocity (V), time (T) and force (F) were 82 IR 47 (V), @94 (T) =0T 91 (F) MR it
chosen as thie basic quantities, then in'terms of B WE TR P RN & @ 39 Ul #
these the dimensions. of mass is given by - TIAM o Y 39 UBR < ot § ~
(1) [m] = FT-v-! 2 [m] =FTV? (1) [m] = FT-'y-1 () [m]=FTV-

() [m] = F*TV-2 (4) [m] = FTV~! () [m] =F?TV? (4) [m] = FTV-!
(5) Question not attempted (5) srgmiRea w=

83. In a stationary situation the contact force by a 83 T Rerraeen IRReRY ¥ w@ GRaN] &\Tﬁﬁ Nice
rough horizontal surface on body placed on it has &N 9 W & U6 9] W oI T U
constant magnitude. If the angle between this o aRAT # i 81 9fe 59 9a @ Wfﬂ?
force and vertical is decreased, then the frictional S e P ISR WY, O WaE a TR B
force between the surface and body will.- ey Ty §ef ~ :
(1) may increase or decrease (1) 93 6 woar & °e o Foar
(2)’remain the same (2) gorE wew
(3) decrease @) g
-(4) increase @) s :

(8) Question not attempted (8) srgaia we

84. A block moving horizontally on a smooth 84 TF R WaE W 20 m/s T TG aferet wu
surface with a épeed of 20 m/s bursts into two" W Fear B3 U <P AN THHM & & 9
parts of same-masses, continuing motion in the Ace oM g ol o Rer § & ofy & ¢
same direction. If one of. the ‘parts moves at S ¥ AR o7 F U 9 B A 30 mls &
30 m/s, then what is the speed of second part‘? o w AT B ?ZIT 2 _

(1) 70 m/s (2) 10 m/s , '
(3) Insufficient (%) 30 m/s (1) 70 m/s (2) 10 1w/s
information (3) e & (4) 30 m/s
{5) Question not attempted (8) srgaRka we
44 -0 Page 180f 32
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85. Consider a solenoid that is very long compare&

A ‘; to its radius. We wish to increase the magnetic

\ field in the interior of the solenoid. To do thiis we

have following choices - :

(A) Double its length keeping the number of
turns per unit length constant.

(B) Reduce its radius by half, keeping the.

number of turns per unit length constant.

(C) Overwrap the entire solenoid with an
additional layer of current carrying, wire.

(1) All choices A, B and C are equally effective
(2) Only the choice B is effective
(3) Only the choice A is effective
(4) Only the choice C is effective
(5) Question not attempted

86. Two solid spheres A and B, each of radiusk, are

made of materials of densities pa and pB
respectively. The moments of inertia about their

diameter are Ia and Is respectively. The ratio 11‘;‘-
is -
(s (2) ez .
PB Pa B
3 JpE : @) JE Eﬁ
PB PA
* (8) Question not attempted
87. Two vectors A = 2{+ 2§+ ckand B=1+j+k
are given, then find the value of ‘c’ if the two
.vectors are parallel.’
M4 () -4
L3 -2 : @ 2
(5) Question not attempted _
88. If the change in value of ‘g’ at a height ‘W’

above _the surface of the earth is the same
as at a depth ‘d’ below the surface of the earth

-t

%

85..7g5 YR TN AR X e g sudl

e @ gor § Tl oie €1 8 39

- uReIReReT B SR gD & BT 99 | o7l

86.

wﬁ%lﬁwaﬂﬁa‘?mmwﬁﬂm

fpe € —

(A) mwmﬁﬁﬁmﬁaﬁ
W@ §¢ 39! A9 AN N E1
(B) Uiy THie @O § B B gen

, <& gY gue four w9 )

© Wqﬁmﬁmiﬁww@maﬁ
e, ARG TRA e < |

M Ree A, B o C.IF 99+ w9 ¥
TAHRT & “

(Z)WWBé‘rW%

(3) Dot e A & THHEDR! &

(@Wﬁmcé’ruwft%

(5) srgaiRa we

q@mkﬁmzﬁa’ra‘mmﬁA@Bm

pa Td pp Al B UERIT S 1 §1 S &N

?BWW&TE;U?WIA@IB%IW

: ]A %\ _
‘ (1) £a; ¢ @
@ J@ @ [m
PB o PA
6) srRa ¥,
87

88.

@1 wfw A=21+2)+ck R E=1+7+k

Ry 7 ¥ o <M Ry g E, a‘rcm

M S BN |

(1) 4 @ -
@-5 . @2
®) aaﬁﬁa e !

Hﬁg@ﬁﬁw@rw B SO W g B
A IR gt A waw & A @ TeRE
Wtrﬁaé?ra%wa’r(dtrh<<Ra‘?ﬁvr\’)

' (ford&h<<R), then- & —

(1) d=2h @gt (1) d=2h @41

. 2 2
@) d=h?" (@ d=h () d = h? @ d=h
(5) Question not attempted (6) ergalRa w1 ' -
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89. Two ‘trains are moving with equal speed in

90.

91.

opposite direction along two parallel. railway
tracks. If the wind is blowing with speed ‘u’
along the track and relative velocities of the
trains with respect to wind are in ‘the ratio
1: 2, then the speed of each train is -

(1) 4u (2) 2u

3 u (4) 3u

(5) Question not attempted

A convex lens and.a concave lens are placed in
contact. The ratio of the magnitude of the powers
of the convex lens to that of the concave lens is
4 : 3. If the focal length of the convex lens is
12cm, then the focal length of the combination
will be -

(1) 54cm (2 27cm

(3) 36cm (4) 48cm

(5) Question not attempted

printing?

(A) Separation of desited DNA fragments by
Agarose gel-electrophoresis

Digestion by Restriction Endonuclease
Isolation of DNA

(D) Hybridization with labelled VNTR probe
(E) Souther blotting

(1) BoDSE—ASC () C—»B—A—DSE
() C~B—A—E-D @) A—)B—-)C—)D-—-)E
(5) Question not attempted

®)
©

What is the correct sequence of DNA ﬁnger-

89.

90.

91.

a1, a’rﬂwwﬁaﬂiﬁs@%mw
el | fada fem F oo @ €1 9 '
W@éﬁﬁ%&gﬁﬂﬂg@%@wzﬁwﬁa
i @ STt 9T BT e 1:2 8, @ i
o B AT B —

(1) 4u (2) 2u
@ u (4) 3u
(8) arfaIRa wee

@Gﬂaﬁmwwwmwﬁm@
2| SO oM U9 gael o g B T @
uREmT BT U 4:3 ¥ Ay S o B
W@Hcm% q FIE B e ga
=Rt

(1) 54cm (2) 27cm
(3) 36cm (4) 48cm
(5) sFpaRa weA

LT, ST BIUH BT GE HH w87

(A) difsa TN GUS BT FRIG
SIA-SOlaR PRI B FRT GBI

(B) WRgeM TSt §RT U

(C) T, BT goreepror

(D) AMiIfGa VNTR Wi & el HHxoT

(B) 9g+ e

(1) BoD—E—A—C (2 CoB—A—D—E

() CoB—A—E—-D @ A—)B—>C—>D—>E

(5) srgaiRa ue

92. Which of the following statements is not correct 92 BTSCHM @ day § Frafiag ¥ F B
regarding Phytochrome? DY Hel ol 57
(1) It has chromophore attached to the protein. (1) s59 UIEH & ST PEIBR 2T 8
(2) Tt is a protein. - (@) 78 v Ul © |
@) ‘Conjugation of double bond in chromophore, (3) et ybIE HAGR # F—dg &1 wgA
is altéred by.blte light. afRafela o= <ar &1
=(8)The *chromophore absbrbs the“‘llght that (4) HHOR YHE B IR o g S
& CANSENHS SSponises.. BIgeId SRR BT HROT gaT ¥
S 8) srgafa we
o3 'Type of placenta found in dogs and cats is - 93. i oiR fafoerl § Rl W9 arel SroRT DI UBR |
(1) Diffused (2) Discoidal 8-
(3) Zonary {4) Cotyledonary @ ﬁﬁ?{ @ farart
(3) deeht & (@) dog=T
- (5) Questlon not attempted (5) arRa we
a4 - EI Page 20 of 32
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94. A normal girl, whose mother is haemophilic,
. marries a2 male who has no-ancestral history of
Jhaemophilia.
. phenotypes of their offsprings?
(A) Haemophilic son and haemophﬂlc daughter
(B) Haemophilic son and carrier daughter
(C) Normal daughter and normal son
(D) Normal son and haemophilic daughter.
Choose the most' appropﬁate answer from the
options given below -
(1) (B)and (C)only  (2) (A) and (B) only
(3) B)and (D) only  (4) (A) and (D) only
(5) Question not attempted
95. Match the various Sub-stages of Meiosis in
Column-I to- their Characteristic Features in
Column-1I and select the correct option —
Column - I
(A) Pachytene
(B) Leptotene
©) Diakinesis
(D) Zygoterie
Column - 11
@) Pairing of homologous chromosomes
(i) Terminalisation of chiasmata
(iii) Gene crossing over takes place
(iv) Chromosomes are arranged in a bouquet
(1) A-(iv), B-(iii), C-(ii), D-(1)
(2) A-(iii), B-(iv), C-(ii), D-())
(3) A~(i), B~(iv), C-(ii), D-(iii)
(4) A-(ii), B-(v), C~(iii), D-(i)

What will be the possible -

GET IT ON
Google Play

9. vo W ied, Rraa A SRl € @
W 7oy § I B B, et Ewrwliorr w1
g e shEr T8 8| S Al @ |t
TETOT WY T Bi?

(A) Eifbieres Je1 9 EFifbfers 9t

(B) EMIfbfIE €T 9 aEd 981

(C) T I T WHEY §el

(D) Iy e 9 ERfbfee I8

aﬁo_g g et § ¥ WEH SugE B gAE

(1) (B) 9 (C) Bael () (A) T (B) DA
@) B)7a @ daad @ (A)T (D) vad
(8) srgaiRa W

9. Hiem-1 % @ T RiRpARrTeR @ Rl
Ju-yEeRl o Plem-11 # &Ry T ST
fiftre werl @ e fam & 98 g 3
7T —

-1 -

L (A) e
(B) wicie

(©) Emiﬁrsﬁﬁ'ﬂ
(D) ST

BieH—11
() G ORE BT A
(11) frarer &1 U
(iii) sV fafma g 2
-(w)gvﬂiagaaﬁzﬁa\rgmﬂﬁ@mz‘raﬁ%
(1) A-(iv), B-(iii), C-(ii), D-()
{2) A-(iii), B-(iv), C-(ii), D-(i)
(3) A-(i), B-(iv), C-(ii), D-(iii)
(@) A-(ii), B-(iv), C-(iii), D-()

(8) Question not attempted (5) SFTaIRE U
96. Select the incomect statement about Plant 96. UGU WU & IR H I HUT BT I
Nutrition - W -
(1) Zn** is directly involved in the synthe31s of (1) Zn*™ 4O WY, & T ?f_@ﬂ'&l wHifes ol
hormone Indole Acetic Acid (TAA). (IAA) & Heor Wﬁo’[ﬁ BT B
(2) Molybdenum helps in nitrate reduction and (2) Ao, ‘Hgge JTAIT q  AGEIO
nitrogen fixation. Rerdie=or ff KEEEY BT T
(3) Manganese is enzyme activating metal of the (3) Hrir, ?f\fiﬁ—?!?ﬁ Ef? TIgH BT Q-Tm'cmﬂ
Krebs cycle. g BT T
(4) Boron is essential for Water Splitting (@) §RF, UPTE . Gl A SIo—fadre
Reaction in photosynthesis. L RifEE @ fAT e B
(5) Question not attempted (5) SRR U
44 -1 Page 21 of 32 ’
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97. During muscle contraction, which of the 97- Higyeh weger ¥ frfofed § § e v
following has a strong affinity for actin? % Ui TaT AHYT BT 87
(1) Sarcolemma (2) Troponin I (1) \riaE (2) g 1 (@)
(3) Troponin T (4) Troponin C @) gatE T (@) (4) graifer .C (ef)
(5) Question not attempted (5) srgaRa o : :
98. Antipodal cells are absent in which type of 98 Mgl ¥ P9 UBR B uRugg ot §
mature embryo sacs in Angiosperms? TR BTy guRerd _E?Rﬁ %.?
(1) Penaea type, Plumbago type (1) GFFRT UPR, TR TR
+ (2) Plumbago type, Fritillaria type (2) Tl IR, fhfectar werR
(3) Fritillaria type, Drusa type @) BhfeaRar Teow, FRUREN
(4) Penaea type, Drusa type (4) fifvrr yeR, gar TeR
(5) Question not attempted (5) SrgeiRe U= )
99. Phaosomes in Earthworm are - 99. Ty ¥ e B & -
(1) Thermoreceptors .(2).Photoreceptors (1) T (2) wererTE
(3) .Blood glands (4) Excretory structures (3) < it @) Seolt wveme
(5) Question not attempted (5) IFgaRT ye )
100. Who propdsed the given slogan? 100. 37 /7 WART e gafaa fpar?
Global Warming : Global Warning wy  TONSE TR : TEEer g
(1) UNFCCC (2) OECD E (1) UNFCCC (2) OECD
(3) UNCED _ (4) UNEP (3) UNCED (4) UNEP
(5) Question not attempted : (5) srgalRa ue L
101 Lettuce, commonly known as ‘salad’, is a 101 Qegw, RN WM <Iae @ 9M & @F
member of family - ST 8, 9ae & Bfel —
(1) Solanaceae (2 Asteraceae (1) |y a1 (@) TeRY BT
(3) Chenopodiaceae  (4) Brassicaceae @) AHTRTR FT (@) AR BT
(5) Question not attempted (5) IrgaRT ye ‘
102. Which of the following is an example of Short  102-fw § < @Yy o f&e9 TRy T SamevT &7
Day Plant? (1) IRYT PR (W)
(1) Brassica campestris (Mustard) @) v YerEaE ()
(2) Raphanus Satlvu§ (Radish) (3) e aifRERE (TFiT)
(3) Saccharum officinarum (Sugarcane) @ S ¢ )
(4) Beta vulgaris (Beet root) ISR (FF<y
(8) Question not attempted @) srgafa wesr '
103. Which of the following is not a larval stage of 103 RreifiRag & ¥ Bl @l wrawer e LECd
liver fluke? o o1 8 8
(1) Trochophore {2) Cercaria (1) TPBR (2) T=asRar
(3) Miracidium (4) Redia @) At @ e
(5) Question not attempted (5) SrpEIRe e _
104. Worker honeybee communicates information for ~ 104. i TAEdl Ao B B W @
the location of food sources through - ISR HIRT Bl § —
(1) Pheromones (2) Waggle dance () oRE=T 9§ 2) Fral T Y
(3) Markings (4) Body temperature ) s & (@) 3RR P I §
{8) Question not attempted (5) argaRa e '
44 - Page 22 of 32 1
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105. Which is not correctly matched?
(1) Diplontic - Sargassum
(2) Diplobiontic - Chlamydomonas
(3) Haplobiontic - Batrachospermum
(4) -Haplontic - Spirogyra
:(5) Question.not attempted
*106. Which one. of the following monomers form
biodegradable polymer?
(1) CH, = CH - CN and CH>=CH - CH = CH,

@ (O)—cu=ca,

and CH,=CH - CH =CH,
(3) HO — CH2CH;~ OH and

HOOC-@— COOH -

(4) NH>CH>COOH and NH2(CHz)sCOOH
(8) Question not attempted

107. Chlorine gas reacts with hot.and concentrated
NaOH, it gives -
(1) N4Cl04, NaOCl and H20
(2). NaCl,-NaClO3 and H,0O
(3) NaCl, NaOCl and H;O
(4) NaOCl, NaClOs and H,0O
(8) Question not attempted

108. Among the following, the narrow spectrum

" antibiotic is -

(1) Penicillin-G (2) Chloramphenicol
(8) Amoxycillin (4) Ampicillin
(5) Question not attempted

109..A solution is prepared by dissolving 0.6g of urea
(molar mass = 60 g mol™?) and 18g of glucose
(molar mass = 180 g mol™) in 1000 mL of water

" at 27°C. The Osmotic Pressure of the solution

is—
(R =0.082'L atm K™ mol™)

l:l = [

GET IT ON
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105. iy gAfera =781 87
(1) Rwiifes — aRiaH
(2) Ririfes — amEemr
(3) diariifes — dererad
(4) enfed — TUTSRITRERT
(5) srpaiRka g
106. fariferRa § & @MY UHed Ol gEEH
gD T 87
(1) CH,=CH - CN @1 CH,= CH - CH = CH,

@ (O)—cu=cn,

T2l CHy=CH - CH =CH,
(3) HO — CH,CH,— OH @217

HOOCCOOH

.(9) NH,CH,COOH @It NH2(CHz)sCOOH
(8) srgaiRa we
107. g 37 79 7 |ig NaOH @ =T siffifshan
D AT & —
(1) NaClO4, NaOCl1 3iR H,0
\(2) NaCl, NaClO; 3iR H0
(3) NaCl, NaOCl &R H:;0
(4) NaOCl, NaClO3 3R H,0

I1;]

(5) SrgaRa e
108. fyeiferRe 4 @, wiebiol W uRiRe & -
(1) y=fafem-G 2). FARFB DA
@) wEReRRE @) YRR
(5) srgaRa e

109. 7°C A W, G FARA HT 1000 mL el 3
0.6g IRAT (AIeR F&AM = 60 g mol™) ToIT 18g
g (AeR §&FE = 180 g mol™) HieiaR
UIR T 1| Aees &7 RERr <9 89 —
(R =0.082 L atm K'! mol'})

. ' (1) 4.92 atm (2) 2.46 at
(1)-4.92 atm (2) 2.46 atm ® Les atm (4; o atm
() 1.64 atm (4) 82 atm i aim am
(5) Question'not attempted 3 T i
44 - D Page 23 of 32
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110. Haemoglobin is made up of four sub-units. Each

sub-unit comprises a Porphyrin complex haem,

which contains -

(1) Fe** bonded to two Nitrogen and two Oxygen
atoms.

(2) Fe?* bonded to two Nitrogen and two Oxygen
atoms. '

(3) Fe* bonded to four Nitrogen atoms.

(4) Fe** bonded to four Nitrogen atoms.

(8) Question not attempted

The rate constant of a first order reaction is

1.54x1073 57, its half-life period will be -

(1) 490 s (2) 450 s

(3) 550 s (4) 540 s

(5) Question not attempted

111,

112. Match Column-I with-Column-II and select the
correct code —
Column-I Column-IT
_ (Compound) (Structure)
() XeOs (a) Linear
(1) XeOFs (b) Distorted octahedron
(iii) XeFs (c) Square pyramidal
(iv) XeF2 (d) Pyramidal
Correct Code is -

(1) (@)-(a), (D)-(b), (id)-(c), (iv)-(d)
@) (@-@), (i)-(c), (iiD)-(d), Gv)-(b)
@) @)-(c), (D)-(d), Gii)-(b), (v)-(a) -
@ (@)-(@), (i)-(c), (ii)-(b), (iv)-(2)
(5) Question not attempted

Which among the following halide will
not produce a precipitate with AgNOs; in
SN reaction?

(1) CHLC1

4

@ CcH,
~ CH—Cl

A

113.

CH,
(3) CH,= CH— CH;~ Cl

10. eralis IR SU-—gHEAl 9 o1 ¥ | TP

%U;ﬁsaﬂgﬁwwgﬁawﬁqwﬁa%

(1) Fe® <1 -ggioi ok &) sifedior wRampsi
¥ g 1

(2) Fe?* T Tggior iR 1 sifeeiiort ovemei
¥ If B

(3) Fe** TR -IggioH AR ¥ g 21

(4) Fe** IR "rggror ueargst 3 4t g1

(5) sraIRa y=A

TH VW dife Affkar @1 9 ﬁemai

1.54x103 s 8, SHPT 3T PHIA BT —

111.

(1) 490s (2) 4505
(3) 550 s (4) 540 s
(5) IR WA

PieH—1 Bl PieH—I | FAferd BIFTY T ‘\‘Iﬁ .

112.
B BT YT DI —
/B BieH—I
? - @) ()
(i) XeOs (a) W&
(i) XeOF;4 (b) e arehad
(iii) XeFs () T R
(iv) XeF, @) Pl
s e § —

(1) (@)-(@), (i)-(b), (ii)-(c), Gv)-(d)
(@) ()-(a), (D)-(c), (Gii)-(d), (iv)-(b)
@) @)-(0), (D)-(a), (ii)-(b), (iv)-(2)
@ (@)-(@), (D)-(c), GiD-(b), (v)-(2)
(8) sk we

13. e gemgst # | ST, AgNOs & &I
SN iffshar #.3/era & gaTg?

Q) CHCI

@ cH,
ScH-Cl
CH,

@) CH,= CH— CH;~Cl
(4) CH,— CH=CH—Cl

5

(4) CH,— CH=CH—CI

(5) Question not attempted (5) 3R ueA
114. The number of fundamental vibrational modejin 114 HpS # Jeivfd $u dIS B '\’:RECH 8-

HoS is - 6 @3

Me (23 ¢

®9 @ 16

®o9 @) 16

(5) Question not attempted () argaiRa o ,
44-01 " Page24of 32 ’
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117.

e

115.

118.

119.

120.

The Cell Potential value of the given cell will
be -

CriCr** (0.1M)IIFe?* (0.01M)[Fe

(Given E°Cr**/Cr = -0.74V, E’Fe?*/Fe = -0.44 V)
M oi52v (2) 030V ¢
@B 120V 4) 026V
(5) Question not attempted

Py
£

- On hydrolysis of one mole of maitose, two moles

of D-glucose are obtained. These two glucose
units are linked together through oc-gly0051d1c
linkage between -

(1) C-2 of unit one and C-4 of another unit

(2) C-2 of unit one and C-3 of another unit

(8) C-1 of unit one and C-2 of another unit -

(4) C-1 of unit one and C-4 of another unit

(5) Question not agtempted

In which of the following pairs, the EAN

(Effective Atomic Number) of central metal
atom is not same?

(1) [Cr(NH3)4]3* and [Cr(CN)¢]3~

(2) [Fe(CN)4]?~ and [Fe(NH3)¢]3*

(3) [Ni(CO),] and [Ni(CN),]*~ :
(4) [FeF4]3~ and [Fe(CN)4]*~ 1
(5) Question not attempted

Among the following, positively charged sol is -
(1) Haemoglobin (2) AS2S3
(3) Gelatin (4) Gum

(5) Question not attempted

According to MOT (Molecular Orbital Theory)
C» molecule has -

(1) 17 bond only
() 1 6 and 1 7 bond
(5) Question not attempted

(2) 16 bond only

(4) 2 = bonds !

A sample of gas occupies 100mL at 27°C and
740mmHg -pressure. At what temperature
volume of gas will be 80mL at 740mmHg

pressure?

Ha K

115

116.

117.

118.

119.

120.

GET IT ON
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Fow T O B O T BT A B —

CriCr™ (0.1M)IIFe** (0.01M)IFe
(Feam wrar & E°Cr3*/Cr = -0.74V, E°Fe*/Fe= -0.44 V)

(Mos52v @030V
@ 120V @026V
(5) IR we

A B TP Al @ Slel ITEST TN D—?F;tcﬁﬁ

® | Ao oI B &1 3 FI e seRal
o—TEPRIRT T G T TR A G

?sé’r g -

() v 3o 1 Co 7 T F 049

(2) T T FT C-2 7Y 3BT B C39

(3) P THE BT C-1 50 §P1E B C29

() T THTE BT C-1 T IPR S C4 ¥

(5) IrgaIRa we

P gl 3§ & R, Py 1 TR

P EAN (1) Oxeiodi ) e T 87

(1) [Cr(NH;)e]** = [Cr(CN)]*~

(2) [Fe(CN)gJ>~ @or [Fe(NH3)6]3*

(3) [Ni(CO),] <IT [Ni(CN),]*

(4) [FeF¢]3~ @orm [Fe(CN)g]3~

(5) gl we

frfafen 7w, aoTe sl Wi § -
(1) St (2) AS:S;

() Rraifes . @ ig

(5) argaiRa w )

nfbae e fgia (MOT) & SgaR C; 317
# BT 8 —

() o9t 1 wde () dae1 o9
@) 108k 1 e ®2ndy
(8) argIRa ue

T A T A 27°C G 740mmHg T T
100mL 3G BRaT & | e @19 W), 740mmHg
9 TR 19 BT AT 80mL B IEM?

s

(1) 240°C (2) -33°C
(1) 240°C (2) -33°C @ @
89.5°C 21.6°
(3) 89.5°C @ 21.6°C f . > 16%C
'(5) Question not attempted ; ©) 13 L
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121.

122,

124.

125.

For a driven harmonic oscillator, if the driving
frequency is negligibly small and the damping is
low, then the amplitude of the oscillator is
controlled by -

(1) mass and damping both

(2) mass only

(3) force constant

(4) damping only

(5) Question not attempted

If the ground state energy of a particle in a one-
dimensional infinite potential well of width L is
equal to the energy of the second excited state in

another one-dimensional infinite potential well

of width'L,, then the ratio Lo/L is -
M3 21 . 3
33 49

*(5) Question not a_tfempted
123.

A proton is composed of the following quarks -
(1) two up quarks and one strange quark

(2) two down quarks and one strange quark

(3) two up quarks and one down quark

(4) one up quark and two down quarks -

(8) Question not attempted

Three infinite plane sheets carrymg uniform
charge densities -0, 20, 30 are parallel to the
x-z plane at y = a, 3a, 4a respect1ve1y. The
electric field at point (0, 2a, 0) is -

2 @y
@ 2 (@) =22

i3 €0
%) Quesiion not attempted
The life time of ‘muon at rest is 2ts. A muon is
travelling through the laboratory at three fifths
the speed of light. How long does it last?

121.

122.

123.

124.

125.

GET IT ON
Google Play

IMIRT TIoT B9 ¥ @Y § TN IqHeT < B,
a1 Qe o s R fear o & —
(1) g9 U9 S@HeT M1 & NI

(2) BT TIAE B NI

() §o1 i g1

(8) BgeT AT B ENT

(5) argaiRa we ,
aﬁLlﬂﬁéﬁzﬁww—ﬁﬁamﬁww
B A Holl W F B B B ol Ly Arerd
B TP 7 W99 Fa Mg ou @ B
Gﬁﬁamﬂiﬁrmﬁa}wﬁr IECERIS
Lo/Li & —

M3 @1

33 @9

(5) 3G U= i ,
T WEi FrefRed qaet & a7 & —

(1) 3 o9 g8 AR B B w@D
(z)a‘r.wmaﬁ'\’wevw-

(3) T 8 F@TP 3R UH SN FD
(@Q?ﬁemwﬁsﬁ?ﬁww

(5) SrgRIRe we

W =T FHde ara} 9 W UH9EE Sy
U -0, 26, 36 & x-z Tel @ GARR BT
y=2a3a,4aRE| [§g (0, 23, 0) ® Rgw &=
3

(1) 32, (2) 4o;
Eg J 80] 4
3) Z¢ 4) ~20,
( 80] ()—80_6]
(5) srgafea, oo

TP = P fRm F e 2us ¥ @
I TR ¥ ySEr @ are $ de 9e
dfed AN § IREE ¥ 98 fea e a%

(1) Insufficient 2 4.8us Sifee w&? ,
information _ (1) Sroater =T (2 4.8 ps
() 2.5ps @ 3.6 ps @) 2.5ps @ 3.6 ps
(5) Question not attempted (5) SRR ge '
44-11
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126. In the smgle slit diffraction pattern, the: 1nten51ty 126.
of the first maximum is - ‘
(1) 1.24% of the intensity of the central
_maximum.
(2) 4.96% of the intensity of the central
maximum. ~
(3) 0.62% of the 1ntens1ty of the central
maximum. ' .
(4) 2.48% of the intensity of the central
maximum.
(5) Question not attempted
127. The efficiency of a Carniot engine is 40%. The 127
temperature of its sink is 27°C. What should be
the change in the temperature of its source so that
the efficiency becomes 50%?
(1) 200K (2) 100K
(3) 273K (4) 373K
(5) Question not attempted
128. A point charge.+q is placed at the midpoint of 2 128.

Cube of side L. The electric flux emerging from
the cube is -
(1) sqL? (24
e : 2
@) L @
’ 6gp : 6L280

(5) Question not attempted
129. Assertion (A) - Nicol prism is used to produce 129
' and analyse plane polarized

light.

Reason (R)- Nicol prsm reduces the
intensity of unpolarised light to
Zero. , '

(1) Both A and R are individually true but R is

not the correct explanation of A

(2)_A is true but R is false

(3) A is false but R is true

(4) Both A and R are individually true and R is--

the correct explanation of A
(5) Question not attempted ' ﬁ
130. The position vectors of two masses of 6 gm dird£=*130.

2 gm are 6i—7] and 21+ 10j—8k ,

respectively. Find the position of the centre of

mass of this system.

1) 10f —5.5]—4k (2 81— 15.5] + 4k

@) 51—-2.75) -2k @ 41— 7.75] + 2k

(5) Question not attempted

GET IT ON
Google Play

THa e fads ufrey 4, vem SfEas @
dredr —

() S Sfas Pt daer @ 1.24% B 2
2) 3=y Sfas & dioar & 4.96% B B
(3) D SR @) e B 0.62% BN B
(@) By ShRas B dgar #1 2.48% B &
(5) aFeIRa U=

wmmaﬁmm%%lwmm
AT 27°C & | 39S Sd & a9 § fbawr uRaas

e S a1 SHET <8 50% & WY
(1) 200K {2) 100K
(3):273K (4 373K
(5) JrgilRer g
Lw%wm%wﬁﬁwwﬁim
+q @1 1 8| B9 9 i R veew § -
(1) sqr? (PIIRS
@) L @

6gg 6L2gg
(5) srgaRa T

IR (A) — Rt s &7 STaNT whad

|
SR (R)—  Fopler 097 snjfaq yorer &
e B I FR AT B
(1) A T R T TeTT—3[eNT U9 € i R,
A & T8 e T8 8

(ﬂAW%‘?ﬂ%ﬂRW%

@) A 3 & ofT R e &

(4) A To R €T SIeR—37elL. ¥ & 3R R, A
P E AT

6) gl w1

6gmTN 2gm® J TIAFI & Rofy afdw
A 61— 7] 7 214+ 10— 8k El g TH @
TN Bre B Ry S| BT |

(1) 10i - 5.5] -4k (@ 81— 155] + 4k
(@) 51 —2.75§ -2k @ 48 —7.75]+ 2k

@.:ﬂﬁﬁﬁ RS
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(5) Question not attempted
132. What is a ‘blue print’

evaluation?

(1) A method for grading students’ exam. ~

(2) A criteria decision of policy, which ‘is

in the context of

translated into action.
(3) A detailed lesson plan to improve learning.
(4) A record of student performance across the
subjects.
(5) Question not attempted
133. Which of the following is not included in

National  Curriculum Framework 2005

guidelines?

(1) Ensuring that learning is shifted away from
rote methods.

(2) Making examinations more rigid and based
on classroom instructions.

(3) Connecting knowledge to life outside school.

(4) Enriching curriculum to provide overall
development of children.

(5) Question not attempted

134. The forms and display-objects made by the
teacher himself or with the help of students based
on real objects, are called -

(1) Audio Aids (2) Improvised
Apparatus
(3) Visual Aids (4) Audio-Visual Aids

(5) Question not attempted
135. Which of the following is not an objective of an
ideal lesson plan?
(1) To enquire the achievements of-all obJectlves
in evaluation

order

(3) Making effective use of subject period

(9) Any kind of compulsion in selection of
learning. activities

(5) Question not attempted

131;The main “purgose of a Lecture—cum

Demonstration Method is== ¢

(1) to provide detailed. lectures w1thout any
practical demonstration:’ _

? to cofvey information ~and stimulate
conversation. ‘

(3) to -deliver augmented lecture by use of
demonstration.

(4) to emphasise more on theoretical rather than
real examples.

reflected in the design of question paper and

(2) To present the subject-matter in a logical b

GET IT ON
Google Play

131. FrT-He—vse O &7 g wi9 § —
(1) 51§ =EeRe Saevor kan S g
R Y& BT
(2) ST < U Hare B ORI FRA |
(3) U< @ SUANT ERT Hakid e 37 |
(4) s SeEREl @Y e dEiae W -
I SR <]
() srgaRa e
132 i & Hew ¥ ffiie’ Fur 77
(1) feenlit & wen @ oY IR &1 1|
(2) v U= yrey § uRadd o fok o
TP E W B A gRafdd @A
@) g 4 guR =g T fawga ure Ao |
@) vt @ weg B NweT 31 16 RerS |
(5) arIRa w=A
133. fFrfoied & 9 oF ISR Uiegadt SR
2005 @ e fAder & wnfder =81 82
(1) e & Wai F A& B R FET
- (2) Tersi B AP FoR IR T RBror w
SITEITRT BT
(3) S 1 fAeney @ 9ER B SiaT q S|
(4) g=ai & Ty 9o @ o) ureamy & W

BRAT|
() srgaRa U=
134. grezes ol 1 el @1 ¥R @ arfa®
8, Sl $EAR § —
(1) 3/ USRI (2) SRR SUH
(3) 5T SUPRU " (4) 5F—gT UGN
(5) IrRIRT W= '

135. fm=iferRad & | =T U eyl UiS AT Bl
Teeg Tl 87
(1) i # Wl Ssewl @ wuik @ Gt

O
(2) e @I ifdd A F TR T
(3) vy Freier & G BT Y9G STANT BT
@) aferm fpael @& = d ) R B
Sfartar

(5) argaia e
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136. Which of the following factor is essential in a
Constructivith Approach?

(A) Students should become self-regulatory :

and self-aware of learning.

(B) The teacher should serve primarily as a
facilitator not an instructor.

Select correct answer using the code given

below -

Code -

(1) Neither AnorB (2) Only B
(3) Aand B (4) Only A

(8) Question not attempted

137. Learning objectives of Science teaching should
reflect on which of the following?
(1) What are the learning resources available?
(2) What the learner will do rather than what the

teacher will do?

(3) What has the teacher planned for the class?
(4) What do. the textbooks narrate?
(5) Question not attempted

138. A teaching method in which students are given
the opportunity to discover a rule or principle on
their own -
(1) Laboratory method (2) Inductive method
(3) Lecture method  (4) Project method
(5)- Question not attempted

139. Which of the following subjects are co-related to
obtaining minerals, rocks and metals found in the
ground, analysing their composition and
studying the temperature and-pressure etc.?

. (1) Agricultural Science, Mathematics,
Chemistry

(2) Agricultural Science, Physics, Biology
(3) Geology, Chemistry, Physics
() Physics, Health Science, Geology

& fork amazaw 87
(A) ﬁa@@raﬁvﬁaﬁ%uﬁ%w—m
T AE—GIRTe® B MY ||

ﬁ%ﬁﬁ@ﬁsmmﬁwﬂaﬁw
ﬂe{_

(1)=f€rAaﬁ-\r=n§rB (2 Paa B
() A3RB @D A
(5) SIpRIRG g
137. = Rerwr & i Seedl o feaferiaa 4
¥ 59 W &F <A1 =R
(1) DI ST T Sueer 87
A (2) Rere & oo A gomg Rl @ wen?
(@) R 1 Pem & ford @ Arorn 91 87
(4) wreagwS! # Tar gy T 87
(5) SrgRilRa we
138. fRperor Y a8 ffy R faenfiat o1 w0 fram
a1 g &) @il &1 SR T oar @ —
(1) wiiamer Ay (2) sweE fafy
@) = A (4) uEeET R
(5) araiRe U
13094 ¥ g N 9o @i, T, oTgei B
TN T BT IITT X § P9 e e
HT HE-HeY &7
() P Rrsm, T, v R
@ B Rem, Hfre g, sha s
3) 4o, wadE fagm, Wik fagm
@) +ifde s, Wﬁwﬂ q—fas

(5) Question not attempted (5) SrgaIRe we
140. Science is considered Tentative because - 140. R 7 IRRY AT IR ©, i —
(1) It can make predictions. , (1) 7g “R=garl $% W@ g |
(2) Scientific knowledge is open to revision 2 dTfe 9 T IRdl B IR TR AR
based on new evidence. % oy gen !
(3) It deperids on random guesses. (3) I% Agfed A W R o 1
(4) 1t gives absolute truth. () g ot 9w 3 B
(5) Question not attempted (5) srgaiRe wes
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three aspects of teaching and learning of Science,
which 6ne is not applicable?
(1) Building a Knowledge base
(2) Test and Evaluation
(3) Generating Understanding
(4) Finding Applications
(5) Question not attempted

142. Which of the following type of tests are intended
to obtain marks and grades that are relatively
uninfluenced by the subjective factors?

(1) Essay Type Test \

(2) Short Answer Type Test oy,
(3) Oral Test :

(4) Objective Type Test -
(5) Question not attempted .

143. Which of the following primary factor affects the
selection and organization of curriculum?. -
(1) Evaluation

(3) Guidance and Counselling .
- (4) Supervision and Administration :
(5) Question not attempted
144. The necessary statement to determine the

obtainable objectives of Science teaching is -

141. The Mercedes Model (Gallagher) emphasises on:  141. aRiist wfsa (ﬁwa?) s & Rewr w@

(2) Teacher - ;ﬁ
. . N R

- e 3 0N usgell W IR Sdr
PIT TP R T&l 27
() S & MR F7 0T
@) fevr vd qegie
(3) FF=1 =T P
(4) SFRIRT BT qaT &I
(5) argalRa we
142. fop=fafaT # ¥ Y YaR @ e a1 Sew
@m@ﬁemmém’rmﬁﬁmw
H IEATHT I ST B?
(1) s Teor
(2) <y SRS TRlETT
(3) Aifaw oo
@) TS T
() SIgaRa W
143ﬁw%rﬁqaﬁﬁaﬁﬂmmaﬁmwﬁmm
B I T GIOT P YT e 87
(1) Feaip=
(2)-Rrmm
- (3) e 19 werrEt
(4) TaETT T9 TR
(5) IrgaIlRa weA
4. g Rewr & g s2wi @ fuRe g
i RS BAT T —

T ¥ W

(1) Psychological theory based (1) s dsn~e Rigra sl
(2) Classroom teaching based (2) warTa Rieor smenRa
(3) School program based (3) femem BrisT smenRa
(8 All subjects based (4) 9o fwdl W= smaRa
(5) Question not attempted™ (5) SrgaIlRa e
145. Which. of the following is not the key role of a  145- fmfeifag & & @==i ﬁﬁﬁ TANTRIE
Science laboratory? ' " UgE @ T8 87
(1) To gdin an appreciation of Science. (1) fa=mr 97wl WS BT |
(2) To awaken curiosity about the world. @ 3 & IR F Rysrar Eﬁ\]'\_yﬂ'll'a' HEI
(3) To inculcaté process skills of Science. “ ' (3) A @ Ul Bl B faeN e |
(4) To increase the number of scientific facts: @ T Rrew I weal &7 g ) wed §
they can memorize. - - ST AT QT | '
(5) Question not attempted (5) i Ha
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146

147.

- Why should co-curricular activities be organised

in the school?

(a) It helps in the justification of fee collection.

(b) It helps the institution to get fame.

(c) It helps in the overall development of child.

dk heips students to develop interest in studies.

Select the correct answer from the code given

below -.

(1) (c) and (d) () (2) and (d)

(3) (a) and (b) (4) (b) and (¢)

(5) Question not attempted

Which of the following best describes the

purpose of the Problem-Solving Method?

(1) It focuses on theoretical concepts avouhng
practical application.

(2) It emphasizes on practical knowledge which
leads to wrong conceptual understanding.

(3) It makes learning more duli and boring.

* (4) It allows children to-solve scientific problems

148.

independently or by guided approach.
(8) Question not attempted

Which of the following is not academic bénefit

of field trip in Science?

(1) Helps in providing practical experience to the
learners. - |

(2) Encourages sharing responsibility for child’s

146.

GET IT ON
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ferem & uegTal weh aRRRE @@
SR BT ST AR?
(@) ?Wwﬁaﬁﬁmﬁm EaGl

|
- (b) I Eer B gy UM § GeRer eRar 21

© g‘ngﬁvﬁwﬁmﬁmm

. (d) TE gl ¥ eregge ¥ oY ela B

147.

148.

H Agg P £
?ﬁﬁ%ﬁﬂfraﬁﬁﬂﬂwmwaﬁm—
M) (c) X ) (2) (a) 3R (d)

@) (@ 3R (b) @) () IR (0)

(5) sgaRd W=

frefoiaa & 9 99 wrR—gauE AR &

TPl BT TIY /T g BRal &7

(1) I Agi~IP IR R GRS TINT
BT g9 g SR T D

(2) I8 T ATURISHT BT FBRIT B arel
IPEIRT 39 N WK 47 8

(3)?'@@%@@131%@@%@31

|

(4) 3= o Ae TR B Wad BT 9
gwhﬁhm@rgaaﬂ%aﬁa‘jqﬁrém

]

(8) SrgaiRa e

ﬁw%@aﬁﬁﬁwﬁwﬁmwm
it o TR

(1) ffenRi &1 aaERE s Te AR i
AEE B B
'(Z)Hﬁra%?ﬂ@ﬁﬁwiﬁww

learning with community. . RRR @Y Jicafed B
(3) Relate the community to learners in Science. (3) T, 4 Ter 37 sfmEat & s ]
(4) Allows students to skip lesson without (4) faenRit &1 famm deafrs o @ uieh B
academic benefits. BIgH B} AN YSH FLll B |
(5) Question not attempted (5) JFRIRT U :
149. What characteristic of a good test ensures thatit  149. Teh 3/ wdieror & Sl fRivar a8 YRR
is free from bias? o= § & 9% @EhE 9 gw@ e
(1) Validity (2) Simplicity (1) Jerar (2) ¥R
(3) Reliability (4) Objectivity (3) faweizan @ Eﬂﬁﬁ'@?ﬂ
(5) Question not attempted _ () SFRIRT Ue.
150. Which of the following activities is conducted by 150 fw=foiae # & =t il v s Foe
Science club? | ERT Halfrd @ SR 87
(1) Organizing games and sports activities (1) S TRfARRT o1 s FRe
(2) Organizing literary activities ] (2) wifefcas TR &1 Mo &ReT
(3) Organizing Maths quizzes e (3) TIfRT YA BT I B
(4) Organizing Science fairs and quizzes. (4) fa=mT #iell SR TERIY BT RIS ST
(5) Question not attempted (5) SriRa w3
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RAJASTHAN PUBLIC SERVICE COMMISSION, AIMER

Sr. Teacher (Sanskrit Edu.Deptt.) Comp. Exam - 2024
Subject : SCIENCE
Exam Date : 29-12-2024
Model Answer Key Issue Date : 16-01-2025
Answer key as per the Question Paper uploaded on Website

Q. No. RES Q. No. RES Q. No. RES
1 1 51 3 101 2
2 1 52 1 102 3
3 3 53 3 103 1
4 1 54 4 104 2
5 2 55 1 105 2
6 3 56 1 106 4
7 1 57 3 107 2
8 4 58 4 108 1
9 3 59 4 109 1
10 2 60 1 110 3
11 1 61 3 111 2
12 1 62 2 112 4
13 1 63 1 113 4
14 1 64 4 114 2
15 4 65 3 115 4
16 4 66 1 116 4
17 4 67 3 117 3
18 3 68 4 118 1
19 4 69 2 119 4
20 4 70 3 120 2
21 4 71 3 121 3
22 4 72 4 122 3
23 4 73 4 123 3
24 3 74 1 124 1
25 2 75 4 125 3
26 2 76 1 126 2
27 3 77 2 127 2
28 2 78 2 128 2
29 3 79 1 129 2
30 4 80 1 130 3
31 2 81 1 131 3
32 3 82 4 132 2
33 2 83 3 133 2
34 3 84 2 134 2
35 4 85 4 135 4
36 4 86 1 136 3
37 3 87 4 137 2
38 1 88 1 138 2
39 1 89 4 139 3
40 4 90 4 140 2
41 2 91 3 141 2
42 2 92 3 142 4
43 4 93 3 143 2
44 2 94 1 144 1
45 2 95 2 145 4
46 3 96 4 146 1
47 4 97 2 147 4
48 3 98 1 148 4
49 4 99 2 149 4
50 4 100 4 150 4

* Means deleted Page 1


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

